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I Analysis of next clause of 1 mwn: the animal with the hanging limb
a If: the animal was subsequently slaughtered,
i p7r the nvnwn o7 is sufficient nkMVY TwWIN
ii »”7. not wiMN
b Analysis of dispute(727): whether or not a nnna becomes a 7 for a limb (p7 which fell on nnna - impact on 11R)
i w”rdoesn't act as T =11R is not NRMVY WM
ii  p”r acts as T 291 is no NRMVY TWIN
¢ Analysis of dispute(»an): if a small piece, when grabbed, doesn't bring the larger piece with it — considered one?
i v”1. not considered one (= 1limb not 1w 1 from blood that fell on nnna)
ii ~ »”1 considered one (=7v2n)
iii Note: 3Ny "7 agreed with this analysis; as he identified a contradiction within n"'s rulings:
1 On the one hand: our ruling (MmN RN 70 10Y ALY N PRI VP TMIR)
2 OTOH: in R:3 0y 9120, n" rules that only if the small piece, when lifted, moves the entire piece is it ymn2
3 Resolution (731117 *3); "1 reversed his position (or the mwn there has the positions inverted)
(a) Challenge (to »*1): Perhaps n™ distinguishes between the lighter »12v and other mxmv
(b) Answer: »21 equates them
(i) Challenge: perhaps »a71 equates them, but n”y doesn't
(if) Indeed: that was 11N '7's intent — per »17, the positions are reversed
d  Analysis of dispute (¥27): whether or not the concept of 1, which assuredly exists for nkmw, also exists for 1wan
i 77 doesn't extend to 7wan
ii  p”r extends to 7won
e  Analysis of dispute (979): if 7w2n which comes before intent (for food) is a w20
i Per:2: pxpw Rnaown — y™ ruled that the 291 of a slaughtered animal in villages needs intent only — no 1wan
1 Reason: already had 9wan at no'nw
2 am 71 (to »™): you taught us that if grass is collected and washed off for animal to eat
(a) And then: changed his mind to feed to people — requires 2" 9w for DY2IR NRMD
(b) »”r conceded the point and reversed his ruling per "> '7's challenge
ii ~ »” accepts the reversed version (requires 1w3n post-intent)
iii »”r accepts original version of y™
f  Analysis (8’8 “77 7772 81X 77): case where the 0T was washed off between nn’o
i p”rnonwis an ongoing process, and this is NNV DT (PWIN)
ii @77 nonY is only at end - this is nan 07T (not PwIN)
g Analysis (’wx 7): whether the nonw itself — without 07 - is 1wan (1™ - 1PWIN; V" — not PWIN)
IT  Series of tangential questions regarding m (all unresolved —1p’n)
a /7127 while an animal is alive, can it become a 7’ for a limb? 1p'n
b »ax: squash grown inside a sealed pot (2 nwvn) can then be nrmv Sapn
i If it grows outside over ypap (>now nMnv),
ii w7 the part that is over ground is now n7nv; the part inside is NNV
iii  Question (»2a8): be a T for the Mnv one, still inside? 1p'n
¢  irpy 7. if one prostrates before 1/2 a squash — it is MoK (but, per v™), not Y2 NRMIV Yapn)
i Question (/72172 77): can that half become a 7’ for the other half to be 0’9318 nrmY Yapn? 1PN
d 97 if a branch of a fig tree is cut off but still connected
i Am 7y fruit still 0o (considered 12n)
il owamif it can still live, considered 21nn; if not — wYn (=>nRMY Yapn)
iii  Question (97): can that become a 7 for the attached branches? 1p'n
e /”rin a ny»n n2, a rock which is in the corner of the house —
i When: he removes the stone, takes entire stone, including the part which is connected to his neighbor's house
ii  But: when he breaks it all down, only breaks his own
iii  Question (777): does the part of the stone in his house become a 1’ to his neighbor's? 1p'n
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